[Ge80a8:0p§930805043 (q§0p§03C:c320(03:) & 0-00- jo )R qodes,
(YE%GO{I:?_%:@&GOT?SQG@UQG-?

ao$ (cﬂ:oo@:)
o |edleod: B0d 29000 20000
| |edTog B8 20000 ogo00
o |epSeco B03 8Gooo GBgooo
G |c88 3305 Bgooo GGooo
9 [s0§03 (ceeqp) B0 59900 58300
Odls¢ (opq¢e4S)
G [0050 o/§ JORG000
q o0t o/} 5099000
o [dc3egal o/on§ JJJR000
@ [e0000050 o/n§
20 [00388s o/on§ 9099000 2Q99 0O
00 [Gogds(g) o/n§ 2590000 oBog000
o) [0cp§:8 o/0% 99QR000 1J59900
0Q [30B050 o/} JOEaR00 JogRg00
2 [0¢8 ofo§ 26000 Jogg5e0
08 |e[goCzsd o/0§ BGogoo BqaGo0
98 |opooord(§jey(od o/oo§ JogBo00 Jgoagoo
oq |g§0om8/(g> o/0§ 00Boqo0 OROEN0O
00 |0 o/oo§ 2586200 2096500
09:(%990983."?: (o?clée.?oé)
og 03050885 8acoo JBoo 2900
Jo |(0305993(g1 (@310999) 8o00o 0go00
5o |[30529§(Gj (9S:0) 8200 8500 2000
4 |t 8oo ©000
R |s5s: 8oom 20000
J5 [cqoBqp8(0§:3) 8a0o qo00 gooo
19 |egode(et§iod) 82000 25000 26000
09:3?:98
58 |e[gos8 8oo0o 26000
1 |§8:s8 8oom oBooo
Jo |09:39§:58 8oooo 6900




< C <
Ragegotode

(o3

PO3Ce 0-00-J0 0 6§, Gasqjizeﬁ:.}é

N 3 3 QO 3
028650588 dgpen (00630000) condamniegrasiqp:

C
©q10305% cqpgs: ()
S o8 S £ OB T
] BY|3epd 43 B}
Ot} (opqgeso8) oo
QN 8&)3’)
) e l8) [m— Bgg
J[o0&:¢ . 260
Q2 608@301 02000 -
N 82000
g ‘302’0‘?%" 8000 930 JeJo
) ‘\"”09" 82005 J990 J8qo
G OC‘B%:@[ . Jo20 0o
i i Boon 259 2900
° :\;%(‘:30)0 82020 290 R9J°
B|oe° — o — eleieR) §29°
20 n?mozo[§|[023@: o0 060 99
00 ?\?ﬁ’o”‘?’/@g 8oom 96Go 9959
2T _ Booom 6665 9290
2Q|®2:60250 - 9990 Booo
96 |0pe0223(gs o 20600 S
o8[efgozad 82000
co
(03053358 _ 2q00
o< ;) e
o6 [s83(g|g05 :w J6oo
82000
0q|s88[g)(cwoS(a5e) = 500
QQ S ®
26 aoo[§|[ (c005208) :&» JBoo
82000
og|B3(g|(cocdegp) = G000
SRS ¢ 2
Jo|6E:B (228)q8 :&)33 QR0O
= - 820
10|53 (c005[0B:) - 2900
Q (o < < 020
1 @c:[-g (c00d208) o~ Q000
R|BEB (c00deqp) —
N <
@mog:?@"_ 8ooon 25)000
J5 0319295908 Sooon @500
J9|eaea€osion:-) Sooon 20000
JB[eam€odsoni-o — 20500
59 939050§=09:-9 5 20300
Jo[ea€odions-g >
C%E)Ogg
82000 Q000 e
Je|(§:§ (xo5o00) AC o Q000 goee
20[08:4) (298) AC :wo _
5 < 02002 -
00[8:e0008 (868) . 96000 2Booo
RJ|EGI0g18: (03) = — aBo00
82000 %9
x [§80 (9)208
o§oqipadS:
< c..Q, & <Q < 8000 2930 209
3 By et (fany) > 5@00 Jpee
29|68 0)p5:38:320002 (208) 0%
3390123
QG US()?): Al (:):XDD _
N O 2002
Q[020:0K (: ~ -
Qo |vdu3:s1 <::n> -
Q@|o303: 52 8200




